log (L*) LABJND1 lightness
log(L*) L*

L* agonp1= (@) In (1 +aY) a=0.3411 t=88.23
* =508 Y,=18, dY,=0.08 dY,/Y,=0.004
log(L* ;)=2.7, m;=0.43

application
range

Y,=18

log AY LABIND1-tristimulus value difference

dur/dy =t/ (1+ay) $=0.017

dLsdy =t/ [ 1+ (aYy) (Y/Yy)]

LABJIND1-tristimulus value difference

log(dY)=log[(s+qY)/c] c=15
=log[(1+aY)/t] t=c/s=88.23

=log [(1+ (aYy) (YIYy))/t]
b’:a’vu:s.m

=log [ (1 +b(Y/Yy))/t]
Y,=18, dY,=0.08 dY,/Y =0.004

application
range

LABJIND1~tristimulus
value sensitivity

log AY/Y)
og(C;) | C=(AY/Y)

L* apanp1= (@) In (1 +aY) a=0.3411 t/a=258.6
LABJIND1-tristimulus value sensitivity
log(dY/Y) =log[(1+aY)/(tY)]

=log [(1+b(Y/Y))/(tY)]

application

! range

~
1 Iog(leY) —2.34 m;=-0. Ia* a0

log (Y/AY)
log(Sy) | S=(Y/AY)
L* | aginp1= (V@) In (1 +aY) a=0.3411 t/a=258.6
LABJIND1-tristimulus value contrast
log(Y/dY)=log [ (1+a Y)/(t-Y)]

Y,=18, dY,=0.08 Y,/dY =222

log(Y/dY)=2.34 m,=0.13

LABJIND1-tristimulus
value contrast

L* Laganp1= (t2) In [ 1+ b (Y/Y }=6.1411 t/a=258 4

log(QAY) AY L* aganp1= (/@) In (1 + a'Y)a=0.3411 t/a=258.

log (L*/L* ) relative LABIND1 lightness
LA
LYL* = (@) {In(1+aY)-In(1+aYy}
LYL* = (@) {In[1+b (/Y] -In[1+b)]}
a=0.3411 t=88.23 b=6.1411 t/a=258.6

L* =508 Y,=18, dY,=0.08 dY,/Y,=0.004
log[(L*) /(L* ,)]=0, m,=0.43
application
range
Y,=18

log(AY/AY,)
AYIAY,

relative LABIND1-tristimulus
value difference

L* agnp1= (@) In (1 +aY)a=0.3411 t/a=258.6

relative LABJND1-tristimulus value difference

log(dY/dY,) =log [ (1+aY) /t] —log [ (1+a"Y,)/t]
=log [ (1+b (Y/Yy) /t]1—log [ (1+b)/t]

Y,=18, dY,=0.08 dY,/Y,=0.004 ’o'

log[(dY)(dY,)]=0, m,=0.86

application
range

log [(AY/Y) I AY /Y] relative LABIND1-tristimulu ¢
C/Cy=(AYM)I(AYIY,) value sensitivity

L* agnp1= (@) In (1 +aY) a=0.3411 t/a=258.6
relative LABIJND1-tristimulus value sensitivity
log[(dY/M)/(dY,/Yy)] =log [(1+aY)/(tY)]

—log [(1+aY,)/(tY,)]

application
range

Iag[(dY/Y)((dYu/Yu)] 0, m,=-0.13
Y,=18, dY,=0.08 dY,/Y,=0.004
Yy=4

log [(Y/AY) I (Y /AY,)] relative LABIND1-tristimulu {
10g(S)  S/Siu=(Y/AY)/(Y,/AY,) value contrast

L* agonp1= (V@) In (1 +aY) a=0.3411 t/a=258.6

relative LABJND1-tristimulus value contrast

10g[(Y/dY)/(Y,/dY,)] =log [(tY)/(1+aY)]
—log[(tYy/(1+aY,)]

Y,=18, dY,=0.08 Y,/dY =222
logI(Y/dY)(Y,/aY,)l=0, m=0.13_
: application’
1 range
1Y, =18/t




